Answer of even questions : (Chapters 29,30,31,33,19,20,21)

Chapter 29:

(2a) 9.56x10-14, ( 2b) 0 ; (4a)  6.2x10-24 N k ; ( 6a )  1.4x10-18 N k,  (6b)  1.6x10-19N k,  (6c)  -1.0x10-18 N i, , (8a) 3.75x103 m/s  , (28a) .252T , (28b) 130ns (36) -2.5x10-3 j  + .75x10-3 k  N

Chapter 30:

(2) -1.2x10-8 T , (4)  4x10-3 m, (18)  21/2 (i/8(a  , (22) d/4, (24) 4.69x10-5 N/m j, 1.88x10-5 N/m j, 0, F4 =-F2, F5=-F1 , (38) 3i/8, (40) .00571T, (46) .272A

Chapter 31:

(4a) -1.1x10-2V,  (4b)  0 , (4c) 1.1x10-2V  , (24a)  (ia/2( ln { (r+b/2) /(r-b/2)} (24b) (iabv/2(R(r2 –(b/2)2 , (36a) 2.45x10-3 Wb , (36b) 6.45x10-4H
Chapter33:

(2) 4.52x10-2A  , (8) 3.8x10-5H, (30a) .283A , (30b) 2.26A , (32) .6A, (38a) 47.9o (38b) 24V, 27V,  (44a) 16.6 Ohm (44b) 422 Ohm, (44c) .521A , 

Chapter 19:

(10) .011m, (14) 49.87cm3  (26) 94.6x104g , (28) 109g,  (30) 1.3x106J , (42) 33m2 , (46) 13.5C, (62a) 1.23x103 W, (62b) 2.28x 103 W, (62c) 1.05x103 W
Chapter  20:

(14a) 1.5mol, (14b) 1800K , (14c) 600k, 5000J,  (18) 2.5x103 m/s, (36a) 3.2cm/s (36b) 3.4cm/s , (44) 3.4x103 J (48a) -5000J, (48b) 2000J (44c) 5000J

Chapter 21:

(22) 97K , (26a) 4.66kJ/s,  (26B0 4.16kJ/s, (34a) 3 , (34B0 800J, (36) 13J ,

 (40) 1.08x106 J
